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Q.1 Tick the correct ans..

(1) When healthy seeds are dipped in water , seeds

(a) Sink in water (b) Float in water (c)Neither sink nor float
(d) All of these

(i1) Identify the weedicide -

(a)Urea (b) 2,4D (c) NPK (d) BHC

(ii1) Soyabean is a very healthy food for our health. It is sown in rainy season in India. Which crop is this-
(a) Rabi (b) kharif (c) both (a)(b) (d)None of these
(iv) Which of the following microbe is involved in curd formation?

a) Rhizobium (b) Lactobacillus (c) Fungi (d) Virus

(v) Microorganism not only cause diseases in human and plant's but also in other animals. There is one human and
cattle disease caused by a bacterium. That is-

(a) Anthrax (b) Cholera (c) Malaria (d) Polio

(vi) The milk is heated to about 70 degree for 15 to 30 seconds and then suddenly chilled and stored. Which Process
is this -

(a) Nitrogen Fixation (b) Pasteurisation (c) Fermentation (d) All of these
(vil) Name the petroleum product is used for surfacing of roads-
(a) Coal gas (b) Coke (c) Bitumen (d) Coal

(viii) Petroleum was formed from prganisms-

(a) Living on the land (b) Living on the plants

(c) Living in the sea (d) None of these

(ix) A toy car released with the same initial speed will travel farthest on surface.

(a) Muddy (b) Polished marble surface (c) Cemented surface
(d) Brick surface

(x) Assertion (A): Airplanes have special shape that resembles with birds.
Reason (R): Scientists take inspiration from nature to design airplanes so as to reduce friction experienced by air.



(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A).
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct explanation of assertion (A)
(c) Assertion (A) is true but reason (R) is false.

(d) Assertion (A) is false but reason (R) is true.

Q.2 Very short answer-

(1) Why does not milk in packet get spoiled?

(i1) How do you prevent communicable diseases ?
(ii1) Write two uses of coal?

(iv) What is know as " Black Gold" and why?

(v) Why is it difficult to walk on wet marble floor?

Q.3 Short answer-

(1) Give two examples for each of the following-
(a) Kharif crops
(b) Rabi crops

(c) Fertilisers

(i1)Explain Nitrogen cycle with outline diagram.
(ii1)) Why should we always cover our mouth while sneezing?

(iv) Give two uses of natural gas ?

Q.4 Long answer-

(1) Give examples to show that friction is both a friend and a foe ?

(i1) Describe the Ways of increasing friction.

Q.5 Case base -

(1) In your class 35 students are there. Marry has chicken pox. How marry will take precaution?

(i1) Rajesh has to push lighter box and Rajesh has to push a similar heavier box on the same floor, who will have to
apply a larger force and why?



(i11) The farmer prepared the soil in his field by turning and the loosening the soil . How does turning and loosening
the soil help in growing plants?

(iv) Plants and animals are continuously using nitrogen. Will there be a depletion of Nitrogen in the environment due
to this continuous use? Explain your answer.

(v) Which of these statementsis true about coal?
Tick ‘yes’ or ‘no’ for the correct answer

(a) Dirt makes up a large part of coal. Yes/No
(b) Coal is produced from plant fossils. Yes/No
(c) Formation of coal requires heat and pressure. Yes/No

(vi) Why the weightlifters appply chalk powder on their palms while lifting weights?

(vi) If we spill a bucket of soapy water on marble floor accidently. Would it make it easier or more difficult for you to
walk on the floor? Why?

(vii) Arrange them in proper order to make a flow chart of sugarcane crop production-

1. Sending crops to sugar-factory

2.Irrigation

3. Harvesting

4. Sowing

5. Preparation of soil

6. Ploughing the field

7. Manuring

(vii1) We eat Lactobacillus along with curd!Is it not harmful for us?

(ix) In today’s world, electric vehicles (EV’s) are becoming popular . When you compare EVs to regular cars that

run on Diesel or petrol , how can you figure out which one is better choice, taking into account factors such as their
cost , how far they can travel and their impact on the environment?
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